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Match the sentence parts
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If Ethan had a mlcrowave

5.
6.

Alles riehtig!
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Sayin a different way

1. Tylerisn't on a football team because he doesn’t play well.

If Tyler pllay\dwell, he would be on a football team.
playe
French

2. ldon't watch French TV programs because | don’t speak

If | Sp™ak French | would watch French TV programs.
spoke

3. Thegirls laugh at Amy because she wears a silly uniform for work.
If Amvg%u‘,:tft wear a silly uniform the girls wouldn’t laugh at her.
ian

at
4. Sarah and Emma don’t eat Do a Burger Bar because they’re vegetarians.

GerehandE o : ) :

If Sarah and Emma weren't vegetarians, they would eat at a Burger Bar.
5. Tom doesn’t take the subway because he doesn’t live in a city.
If Tom Does live,in a city he would take the subway.
Mo

Schau Dir, bitte noch ebnmal die Regeln fitr die (F-Sittze 1l gut an.

Du hast letder Limmer das s’wmpLe present anstelle des smeLe past I (F-Satz

verwenoet!
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f you, | would buy a new sports bag. ~\/"
_ Ethan so tired if he didn’t text his friend all nlght \/ \/
I wouldn’t spend my holidays on a campsite if | - arich sport star.
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